Maralis

ave’
ome

B

A\R\WA\WA
A\WA\N
A\WA\Y




Q
RS O
%%%

@% T ow

Jimal [ W

Maralis



20min x1
x2
%
©@ (o o
J IS
e &
Ax8 M6x50 Bx8 Cx1 Dx16 Ex16
Fx13 @8*30 Gx10 M6x35 Hx16 M3.5x18 Ix2 26x19 Jx4 33x18

.

Kx4 M6x10x5

Maralis

Ox4 28-16

O [—rmmmmmm

Xx8 M6x60

Px4 M6x20

WX1 M10

Qx2 40x40

<

Zx4 30x20












Maralis









—— N

N \t\\\z? N\
N /NN

VAN
7 [T
7] [T
7/ [T
/N

Maralis

10



i



Q
—— 0 >
¢
¢
U
)
4N

\

\

// y/
N/
@/ />

3 \J
Y/

Maralis

12



Maralis 13









JULIA GRUP Furniture Solutions S.L.
B-17616277
Pol. Ind. Bosc d’en Cuca
C/ Tallers, 14
17410 Sils SPAIN
contact@kavehome.com



	NumOfBoxes: x1
	NumOfPeople: x2
	Time: 20min
	Part1_af_image: 
	NumPart1: Ax8 M6x50
	Part2_af_image: 
	Part3_af_image: 
	Part4_af_image: 
	Part5_af_image: 
	NumPart2: Bx8
	NumPart3: Cx1
	NumPart4: Dx16
	NumPart5: Ex16
	Part6_af_image: 
	Code: Maralis
	Lineal_Drawing_3D_af_image: 
	Part7_af_image: 
	Part8_af_image: 
	Part9_af_image: 
	Part10_af_image: 
	Part11_af_image: 
	Part12_af_image: 
	Part13_af_image: 
	Part14_af_image: 
	Part15_af_image: 
	Part16_af_image: 
	Part17_af_image: 
	Part18_af_image: 
	Part19_af_image: 
	NumPart6: Fx13 ø8*30
	NumPart7: Gx10 M6x35
	NumPart8: Hx16 M3.5x18
	NumPart9: Ix2 26x19
	NumPart10: Jx4 33x18
	NumPart11: Kx4 M6x10x5
	NumPart12: Ox4 ø8-16
	NumPart13: Px4 M6x20
	NumPart14: Qx2 40x40
	NumPart15: Zx4 30x20
	NumPart16: Mx4
	NumPart17: Xx8 M6x60
	NumPart18: WX1 M10
	NumPart19: 
	NumPart20: 
	Part20_af_image: 
	SpreadOut_af_image: 
	Step1_af_image: 
	Step2_af_image: 
	Step3_af_image: 
	Step4_af_image: 
	Step5_af_image: 
	Step6_af_image: 
	Step7_af_image: 
	Step8_af_image: 
	Step9_af_image: 
	Step10_af_image: 
	Step11_af_image: 


